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The question paper comprises of two Sections, A and B. You are to attempt both the sections.

Tt wee sifHarE €

All questions are compulsory.

HAIGH M- &R 9m-a & [ e % I gus - gus fered 2
All questions of Section-A and all questions of Section-B are to be attempted separately.

UFT-3 F W HE 19 3% U UH-UF HE F ¥ 1 IR UE-US vIes 19 US-Us ared 0 7
CQuestion numbers 1 to 3 in Section-A are one mark questions. These are o be answered in
one word or in one sentence.,

TM-AE T EEm 4TS vEE- S 5 o TR T 030 = A 2
Question numbers 4 to 7 in Sections-A are two marks questions. These are to be answered in
about 30 words each.

WRT-31 ¥ 9T HE 8 §19 % 7 - A et % §1 T SR eI 50-50 T A 2
Question numbers § to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

WIT-37 o Wo HEq 20§ 24 F WY UTH- U 35T & | 596 SO ST 70-70 el H 1
Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

-8 % W HE 25 § 42 % WY uAnTeEs S W i qefasedt v ¥ uEE v UE-UE AT
w1 &1 fog 1 = faed 1§ o) F9 TS Ted o faeen 99 2

Question numbers 25 lo 42 in Section-B are multiple choice questions based on practical
skills. Fach question is a one mark question. You are to select one most appropriate response
out of the four provided to you.
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-3 / SECTION-A

3 et i i e g e for i ' 1

Draw a diagram to show uniform magnetic field in a given region.

Y i e A R & fafe 1

MName the male and female sex hormones.

3/ v T % vEm w5 € e fefan 1

List any two advantages of using wind energy.

W & O o i B G e e R e 2 ,

Write two conditions necessary for rusting to take place.

kb

\y MgO = faemm s s & wdiss fafan ) i A % 1o o= = 2 8 2
Write symbols of cation and anion present in Mg(. Why do ionic compounds have
higher melting points?

LB/ 2m STHE AYL 1,55 x 10" em? ATIEGFA & 25% 916t TF Yig + 95+ Wodd 9 Sif9 ) afs ag 2
i HieReRel 2.8 X 107 #0m €|

Calculate the resistance of a metal wire of length 2m and area of cross section 1.55 % 10 *m?, if
the resistivity of the metal be 2.8 x 10 #m ?

/ Tt 2% o F i on gewm 67 v v v € T W we € g A Woaea 4 2
g ‘B’ Ay waet €1 =91 U9 Wel €7 0 SO 1 Heah Fiua it |

Magnetic field lines around a bar magnet are as shown. Ram makes a statement thal magnetic
field at point ‘A’ is stronger than at peint ‘B State whether Ram is
correct 7 Justify your answer.
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A substance ‘X’ 1s used for writing on black boards and is insoluble in water. When treated
with dilute hydrochloric acid, it produces a gas which turns lime water milky.
Identify the substance ‘X’ and write its formula. Write the chemical reactions

involved.

5 1 3 = Eife-

(a)  UegMEEE T WG uTg ¥ TR o T wan i age Bt T H0) % fore fEan S €

(b)  efvEn WA e 9 AE AT o ¢
@e Aluminium is a reactive metal but is still used for packing food articles.

t_(,b( calcium starts floating when water is added to it.

10 frefataa sifafea w5 dgior S
(a)  Al+H.0—
(W)
(b)  Al+Ox—

(€  Al+HCI—
Complete and balance the following reaction equations.

@ Al+H:0—
{steam] —_

W Al+ 0

¢/ Al+HCl—
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(i) T EE 9= g W e e s w3 afulme s 87 wwafua wie fafa
(iiy g1 * FAEE & o TEM fafad |
M How chloride of lime chemically differs from calcium chloride ?

\,6 What happens when chloride of lime reacts with sulphuric acid ? Write chemical

equation involved.

i} hMention two uses of chloride of lime,

=
\)/ TF fogn 909 w1 STEE 60W, 240VE | THE Woly T a0 | 3 $HE! e 192V % R 3
W €, @ SugE wiE a9 wed g o e fawm g uietan #ifaw (9 sy fE aem =
g T8l "gean)

An electric bulb is rated at 60W, 240V. Calculate its resistance. If the voltagedrops to 192V,
calculate the power consumed and the current drawn by thebulb, (Assume that the
resistance of the bulb remain unchanged)

13 () =% fom fafed 5 v i o e = & TasmE 89 6 fam g6 3@ 6 3
(b) S e w1 g wIgE gl g8 wngid o e faga vemd Hie e gr el famg w
o9 A &3 v @

-(dfd State the rule which gives the direction of magnetic field produced by current flowing
through a straight conductor.

ﬁ/ List and explain factors on which the strength of the magnetic field at a point due 1o a

current carrving conductor depends. :

14 40,8 Q12 Q 790 24 Q F yFv=! F T4=A 4 Wd 21 9% gfaiy &l 3
(a) FaH HIA
() Ay uF g EiEg
Find :
the highest

(B‘J/ the lowest value of resistance that can be obtained by the combination of four resistors
of 41, 811, 12 { and 24 (1.

15 T yrEA o 1 fstataa #1 e qiew 27 3
(a) e =i fafa e
(b) EEFEAING I g
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List the role of each of the following in our digestive system.
(&, Muscles of stomach wall
Vw{ Hydrochloric acid

{?}/ Mucus

(a) e Tei ¥ e o v fated | 3
(b)  TETEEEG w1 R fare

@ Write an experiment to demonstrate hydrotropism.

\_Lb‘)/ Define phototropism.

e Fen Tomiad © wim o3 Ao | gAEg Hag | ' : 3

List in tabular form three differences between arteries and veins,

WW%@%W@HWW@WW&@%W% ? = 9 W Ieod 3
FHiTAT |

List any three ways in which construction of dams for production of electricity adversely
affects the environment of that place.

ﬁmﬂ‘mwaﬂ'ﬁﬂam:ﬁmmmﬁu =i 1 39 famg W A 3
1 Foram Form ot 33 0 6 | OO U O 36 faua R F |1 9 fowm o

(a) =4 ‘o Tl W FE o e e |

(b) ﬁwﬁuﬁﬁmmmﬁwﬁﬁ#%ﬁﬁm T T &

? fefm |

There was a poster making competition in a school on a topic ‘SAVE ENERGY". The students
were also asked to give write ups on this topic.

A student of the school is unable to make the write up on ‘SAVE ENERGY".

Vﬂd’f Suggest him two steps to ‘SAVE ENERGY ?

‘_ﬂﬁ( Mention the value which the school is trying to give its students by holding

such a competition.
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e Tt Tt afubEa & T Sifsg = Wﬁ?ﬁﬁﬁﬁﬂ%ﬂ[ﬁﬁﬂqﬁaﬂqﬁfﬁ 5
3% | yorw * Tom vamias FHiE S )

(i) FpETe ¥ qiEd
Gy i H ufEE
Gily e e
(iv) T8 I R
(v)  =EET

Give one example each of a chemical reaction that illustrates that the following changes may
take place in a chemical reaction.

‘/{’ﬁ/ﬁte the chemical equation for each condition)
(i  Change in state
(ii)  Change in colour
(iiiy Changein temperature
(iv)  Evolution of gas

(v}  Formation of ppt

21 Freifefas & Ty swr fefad 5
(i) 5ﬁﬁiﬂmmﬁwaﬂﬁﬂﬂ*@@mqﬂﬁmtlmmﬁ FE T W
S = e & AW i)
(i) aE (R 3w = ) Tuel F @ 8w e S ¥
(i) Sl S w e A afers T o & aufy o= adi #1 A H o " wred €
a1 T 1 qe | ae 1 e s T e
Give reasons for the following :
Silver and copper lose their shine when they are exposed to air. Name the substance
formed on their surface in each case.
i Tarnished copper vessels are cleaned with tamarind juice.
1l Aluminium is more reactive metal than iron yet there is less corrosion of aluminiim
as compared to iron when both are exposed to air.
22 {a) uﬁawﬁti‘mﬂaﬁzusmﬁrﬁﬂ%ﬁﬁm%ﬁﬁ-&:mﬁqﬁaﬁyﬁ‘ﬂwwfaﬂmmg 5
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A 6 Volt battery is connected across a lamp whose resistance is 20 £ through a
variable resistor as shown in figure. If the currenton the  circuit is 0.25A. Calculate the value

of the resister which is given by the variable resister
208

(__M“ELJL

‘_ FJ | i Flial%
L et
6V
} Write the 5.1 unit and commercial unit of electric energy and establish  relation
between the two.

23 (i) p i 3 T oW w wE W S T e e e # T 7E Wi & 5

ATt ? e 39 R wied SHeg

(i) wF Tfea = SrEeeE s ity fal v oV # a8 A 45, T 50 &
fiias, 80 % FRANE 3 12 O 1 wiatem @it 2o w6 J et )

(iii) <1 FET T qu HHE R & &1 A EE o aw s 4 =3 &) 50 & B WA
e A7 (e # for e ) whiv ST H1 Siatss 3 st €1)

w/ A wire of resistivity p is stretched to double it’s length. Whadis it's new

resistivity. Give reason for your answer.

Uj/ Draw a schematic diagram of a circuit consisting of a battery of  three cells of 2 V
eac%i a 5 £ resistor, 8 { resistor and 12 {} resistor and a plug key all connected in series.

. Two wires, one of copper and other of mangnese have equal lengths and equal
tesistances which is thicker. (Given that resistivity of manganese islﬂﬁ‘lhan that of copper.)
Cmene)

24 T T % FIE-5YE 1 a3 A AR 9 e wwi ) A i 5

(a) %23 F 9 e o PeiaiiE R e 1w e
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(b) oz v Afee S st B 1 75 T o Wl €
() i B e < feadimrm ot @ I % Fras «nfl 3 wid Fd 2)

\/:;raw the diagram of sectional view of human heart and name and label the following parts :

(a) The chamber of the heart that pumps out deoxygenated blood.
{b) The blood vessel that carries away oxygenated blood from the heart.

(c) The blood vessel that receives deoxygenated from the lower parts of the body.

yTT-a/ SECTION - B

\}ﬁ/ 5 =i o Rl B fem wreell § aeagee | e farifen gt 2

i

- I
Taagq (F)

{iii) (iv) Prevr sy

(@) i (b) i € v (@ i
In figures given below, in which test tube, a gas will be released with effervescence ?
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: hydrochloric hydrochloric
acid r acid

MNall

sojution

ety
ﬁgpﬁf hydrochloric Dﬁ hydrochloric

1 acid ; [ acid
4
s i

& : I;_ttmua;{ . :_Eht- litmus
0] 8 ki
i) solution (Red) i) solution (blue)
{a) i (b) iii () iv (d) ii

ek pli'ﬁﬁﬁaﬁiﬂ‘f‘mfgﬁmﬁﬁﬁﬁwﬂ%ﬁ%tﬁﬁ:

(a) @ qEn e (b) O A

() &Y I (dy AR T

When we observe pH chart, the two colours seen at its extreme ends are =
{a) red and blue (b} red and green

(c) green and blue (d) orange and green.

T §E A F@4%ﬁmﬁﬁﬁﬁmwmwwmw%F@4ﬂmﬁﬁm
g A1 T S e T 4y T a e s e T =q sifufE 3 fiw wr 3w fFm e
(a) i # by  Frcleisrs F

(c) & - afediaRTe &l (d) TE &l

A chemistry lab-incharge kept Zn metal in FeSOy, solution, and observed that after some time
green FeS0; solution turns to colourless and some brown powder was deposited on zinc. In
the above reaction, 7Zn metal acted as

(a) Oxidising agent (b} Reducing agent

{c) Dehydrating agent (d)  Catalyst

Hifesm Ttk S AfEn F05E & i 1 e i WX B A afiifE ) wE  a
e -

(a) Na:S0: + BaCl; — NaCle + Ba:5O4

(b) NaSO; + BaCl, — BaS0,+ NaCl

()  Na(SOi): +BaCl — Ba(SOu) +2NaCl

() NaS04 + BaCl: — BaS0s+ ZMNaCl

Identify the correct reaction between sodium sulphate and barium chloride solution -

(a) Na:SO; + BaCl: — NaCl: + Ba:50;
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(b NaSQ; + BaCl: — BaS0;+ NaCl
{E:! NH{E}O‘.& }1 +BaCl — BR{S{I:I}: + 2NaCl
(d) NaS0y + BaCl, — BaSO,+ 2MNaCl

33/ Ao seEE i Gifcan aoke # AfafE | o IR WE 2 £ 9 aftgn oo @i d@feem 1
' adEs ¥ o afafE ffawne sfufrn @ som §159 fes yen 3 o o Teda 8

{a} A+BY -+ AY+B

(b) A+B+C = AB+C

(€ AX+B- AXB

(d)  AX+BY » AY+BX

The reaction between barium chloride and sodium sulphate gives new products barium
sulphate and sodium chloride. The reaction is an example of double displacement. It can be
represented as .

(@ A+BY » AY+B

(b} A+B+C » AB+C

(<) AX+B— AXB

(d) - AX+BY -+ AY+BX

'-( fey aafuferan & fau & @ %Y= 98 6 © - 1
Cu+ ZnS0Oy—CusSy + Zn
@@  ZnSO, % foe T 81
(b)  Zn, Cu ¥ %5 FE T
(¢)  Cu,Zn# F9 FiET 2
(d) 3 wfufswa g & 9E &
Which of the following statement is incorrect for the following reaction 7
Cu + ZnS50:—CuS0: + Zn
(a) The colourless solution is ZnS0;4
(b}  Znis less reactive than Cu.

{c) Cu is less reactive than Zn
(d)  The reaction does not occur.

£ wen mitem = v OFt T w0 o F el § 2 o S g e At 1
(a) @ w7 &
(b)  aiaiEm AeRe & e 71 T
() E gethe ¥ e T 8
(dy  TfatEm ees B R T
Sapna added a small strip of aluminium to ferrous sulphate crystals. Her observation should
he:
(a) Mo reaction takes place
() Formation of crystals of aluminium sulphate.
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(ch Ferrous sulphate crystals turn colourless
(d)  Aluminium turns light green.

32 o= 19 11 =oia 7 afimel] # Seesiet & ueds a0
2V '

2V
e —@ r{r—m——@*—

L M M

(a)  uftmm [ H 2V A 9iey 11 H5oy
(b)  EMI 9REEE H oV
(¢) . < ufadi 4 ov
(d)  Tfts 1 F ov @ e E 2y

For the circuit shown in figures | and [1, the voltmeter reading would be :
2Y 2V

I 1l
(a) 2 Vin circuit I and 0V in circuit 11
(b) OV in both circuits
(<) 2V in both circuits
(d} 0% in circuit 1 and 2V in circuit 1

33 6.0V HI62 T 1.2A 910 917 916 Taum =oa %1 wfady 8mm -

(@ 050
(k) 50
€ 020
(dy 20
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/ he resistance of an electric bulb drawing 1.2A cureent at 6.0V will bex-

@ 050
(b) 50
© 020
d) 20

SAH U H o yEr A i s osmtawd —
(@ S5J/C (b) 5V/C
(¢} 5C/5 (d) 5W/S

An electric current of 5 A can also be written as :

(a S5J/C (b) SV/C
©@ 5C/S (d)  B5W/S
Her 99y H9E | ) %1 9E 2

20V

+:a.
.r"{:*[;jﬁ

l x i} 10 1) & r
; = Rheostat
@ 10 () 20 (© 30 (d 40

In the adjacent circuit diagram the value of X will be :
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20V
+F

W 05 A

xﬁvv-—-\z\mf_——(::;-—
0 100 ]

o — AP

(a)

/_ el & Wi A sfde 1 e wRRY TR w0 % R, WR @ 3 s @ i e 1

A s e
Rheostat

106 () 200 (o)

R, K R
S AAA AR A AN S

300 (d)

40161

L4

(©)

e HZ A9 I o © -

(a)

To determine the equivalent resistance of three resistors, when connected in a parallel
arrangement, four studenis connected the resistors as follows :

38

A (b) B

=AM A AN

Ry
1 B R “
(4) & ' E E}l 2

) C

(€)

The correct set up is that of student

(@)
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Vaa/ iﬁ-qsﬁqm,iaﬁaiﬁaﬁﬂaﬁa?ﬁmmnﬂﬁwﬁmw%:

(a) IS e e

b) = & wiE et

(@  BR ST & Ees

(d)  BR FHyEmE § T

In the diagram of the stomatal apparatus given below —

P

1

Which one of the following is missing?
{a)  cell membranes of the cells

(b} cell walls of the cells

{c) MNugclei in the guard cells

(d)  chloroplasts in the guard cells

38 e 1Y e § U P H —
(@) Hewd (o) sy EEH
() AR FEH (dy FEHEIH
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4ch stoma opens into a small:

(a) Vesicle (b)  Sub-stomatal air chamber
{c) Chamber filled with water (d)  Haustorium
39 Fea A W H w4 Ewi E 1
(a)  WeRTY WY il T o (by  wEm Hyerae i A e
() TIFHITAR (d)  vaEe T R

\_ﬂ)}(ﬁ:r}' high light intensities, green plant shows :

(a) High rate of photosynthesis {b) Low rate of photosynthesis

{c) -High rate of respiration {d) Low rate of respiration

ﬂt 7 T F1 3 fon fe W SO B4 € R = 1 Gie F E s 5 gla e ad ) 1
- g T8 T

(a)  weRre dyeray ¥ {nferdl yfeEl § sl T o

(b) ST YR B A S TS GE S % w9 0 Hiaa 8 s 81

) T HEEl B A A e = % w9 5w # e e

(d) eI U TA vos & ferwen e € o o SR

We test for starch and not glucose to prove that photosynthesis has taken place because :

(a) glucose is not produced during photosynthesis in variegated leaf.
(b)  glucose formed during photosynthesis gets stored as sucrose.

(<) glucose formed during photosynthesis gets stored as starch

(d) glucose is a stable product and cannot be tested.

41 vEA ¥ S CO, Sfsa et avi F v § wEs e T e wie faa — 1
(a) < fa =g g
(b) e T e Ay U TR 6 9

(c) e o vig e 21w e f e d ue 'R E SR Al
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The delivery tube used in the experiment to show that COz is given out during respiration
should hawve:

{a)  Bothends closed
{b) Omeendopen and one end closed
() Oneend in the conical flask and the other end in the beaker above the water level

(d) One open end in the conical flask and the other open end completely immersed in
water of the beaker

}z/ e W 3 A COLFrmerl & i i s e A T 9 3 39 et S i AR
fa i femm A & -

it TRoT T % forg 9 1 1 S TREds e e, A

(a) womER & 9 7l A KOH faemm o =fen i Higw 4 e 9=
(b) TR T B wE T 8 KOH et am e o die # =
(¢)  FieE H U aen weEE d KOH Eea |

(d) R U g SR el § KOH e |

A student while setting up the experiment to show that COais evolved during respiration,
committed some errors shown in the figure.

i
i |
-
éﬁf‘tﬁ#
The changes that should be made in the set up to get the desired results is:

(a) KOH should be taken in the small test tube inside the flask and  germinating  seeds
in beaker.

(b} KOH solution should be taken in the small test tube inside the flask and water
should be taken in the beaker.

{c) Water should be taken in the beaker and KOH solution in the flask.

(d)  Water should be taken in the flask and KOH solution in the small test ~ tube.
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